HY-PF1W
SPEAKER RIGGING FRAME

Key features

Datasheet

The HY-PF1W is used exclusively to suspend the HX-5
speaker system from the ceiling. The FB-120 series
Subwoofer can be suspended using this frame and the
frame's supplied mounting brackets. This bracket is
designed for indoor use.




HY-PF1W | Datasheet

Specifications

Finish Steel plate, white, semi-gloss paint

Dimensions 550 (W) x 50 (H) x 512 (D) mm

Weight 3.6 kg

Included Accessories Subwoofer mounting bracket ...4, Bracket fixing bolt (M8) with washer ...4,

Subwoofer mounting bolt (M8) with washer ...4,
Bracket fixing nut (M8) ...4, Bracket fixing washer (M8) ...4

z1 TOA )

Published on 2025/04/16




'/ HY-PF1W | Datasheet

Dimensions

Hanging the HX-5B

B A
Holes A are used for hanging between the HY—PFIB
5 91-:'%( and the HX-5B, and also between the HY-PFIB and
the ceiling (3—point hanging).

- = Hanging the HX—=5B with the FB—=120B mounted

Holes A are used for hon%mg between the HY-PF1B
and the HX=5B (3—point hanging), and Holes B for
hanging between the HY=PF18 and the ceiling
(4-point hanging).

Hanging the FB—120B
Holes B are used for hanging between the HY-PF1B

=

L J and the ceiling (4—point hanging).

B B
i & & T[ Subwoofer mounting bracket
L bl XA /(occessory)
L 550 N 512 N

310 _

- 1
Y Y
o
Y
5

(S

@)

oXe)

50

L

-+
W

0Ol
508 ‘ 1©
3—27X25
FB—120B
/ (option) \
*
(o] (o] o] (o]
o o [o} (] [} o

=) Ty
* @ HX—5 series :

(option)

Hanging vertically
Hanging horizontally with the subwoofer Hanging the subwoofer only

Example for HX=5B and FB—120B mounting

* Note: Wires, anchor shackles, and carabiners necessary for
UNIT:mm hanging are not supplied with the product.

zd TOA
‘ I Specifications are subject to change without notice. 3
Published on 2025/04/16




